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- %AMDP2_FE-5-COLL

- %DEC21140-5-COLL

- %ILACC-5-COLL

- %LANCE-5-COLL

- %PQUICC-5-COLL

- %PQUICC_ETHER-5-COLL

- %PQUICC_FE-5-COLL

- %QUICC_ETHER-5-COLL

- %AMDP2_FE-5-LATECOLL

- %DEC21140-5-LATECOLL

- %ILACC-5-LATECOLL

- %LANCE-5-LATECOLL

- %PQUICC-5-LATECOLL

- %PQUICC_ETHER-5-LATECOLL

- %PQUICC_FE-5-LATECOLL

- %QUICC_ETHER-5-LATECOLL

- %SIBYTE-4-SB_EXCESS_COLL
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- RABBRPR &% 1024,

- PSR EIRE] MRV R AR EEL RN 16, MBELKXK16K , MANTEAHR,

HER it ¥ias

TE 2 show interface SR H R

rout er #show interface ethernet 0
EthernetO is up, line protocol is up
Hardware is Lance, address is 0010.7b36. 1be8 (bia 0010. 7b36. 1be8)
Internet address is 10.200.40.74/22
MIU 1500 bytes, BW 10000 Kbit, DLY 1000 usec
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ARPA, | oopback not set
Keepal i ve set (10 sec)
ARP type: ARPA, ARP Ti neout 04:00:00
Last input 00:00: 00, output 00:00:06, output hang never
Last clearing of "show interface" counters never
I nput queue: 1/75/1/0 (sizel/ max/drops/flushes); Total output drops: O
Queuei ng strategy: random early detection(RED)
Qut put queue :0/40 (sizel/ max)
5 mnute input rate 1000 bits/sec, 2 packets/sec
5 mnute output rate 0 bits/sec, 0 packets/sec
2058015 packets input, 233768993 bytes, 1 no buffer
Recei ved 1880947 broadcasts, O runts, 0 giants, 1 throttles
3 input errors, 0 CRC, O frame, 0 overrun, 3 ignored
0 input packets with dribble condition detected
298036 packets output, 32280269 bytes, 0 underruns
0 output errors, 10 collisions, O interface resets
0 babbles, 0 late collision, 143 deferred
O lost carrier, 0 no carrier
0 output buffer failures, 0 output buffers swapped out

HERTHEER T O RER AR , BRI T E —R=E (BRI ) o
, RIEEUARIREN—ET

FRZRiT BAR

TE R show interface T S 3B —# HRA :

rout er #show interface ethernet 0
Et hernetO is up, line protocol is up
Hardware is Lance, address is 0010.7b36. 1be8 (bia 0010. 7b36. 1be8)
Internet address is 10.200.40.74/22
MIU 1500 bytes, BW 10000 Kbit, DLY 1000 usec
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ARPA, | oopback not set
Keepal i ve set (10 sec)
ARP type: ARPA, ARP Ti neout 04:00: 00
Last input 00:00:00, output 00:00: 06, output hang never
Last clearing of "show interface" counters never
I nput queue: 1/75/1/0 (sizel/ max/drops/flushes); Total output drops: O
Queuei ng strategy: random early detecti on(RED)
Qut put queue :0/40 (size/ max)
5 minute input rate 1000 bits/sec, 2 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
2058015 packets input, 233768993 bytes, 1 no buffer
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Recei ved 1880947 broadcasts, O runts, 0 giants, 1 throttles
3 input errors, 0 CRC, O frame, 0 overrun, 3 ignored

0 input packets with dribble condition detected

298036 packets output, 32280269 bytes, 0 underruns

0 output errors, 10 collisions, O interface resets

0 babbles, 0 late collision, 143 deferred

O lost carrier, O no carrier

0 output buffer failures, 0 output buffers swapped out

BREBIGCAAY IR | PR R R, HIRITEET A it & KIEMIRS &£ — IR RZ IR P RMEE,
HZRITERES AT A 20 9 — XORRF B R 3R |, IEH show controller iRV AR 7 -

8 single collisions, 2 nultiple collisions
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X R R]
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BB ZDRPRER HEAPRERIRE R
EMEZ , SoMMEMEERREN | hRITHESEATREHRRERANSITHE,

HE3R Fh 2R

REEHRENINAEIE T T | XM P ZRAYAT B R 1T T PR&I ( 512 fBTE ) o FFUUAM | %R
#l8 51.2 us (B ) , Rﬂtq‘kﬁﬁukﬂ N 512us. WFUAMUR , FRFHRE , FRENF
&AL 51.2 ER%#ﬁe’jl W E A ﬂumﬁiﬂ’J% 512 ¥,

YERRET MRS 512 f12f5 , MRMERR | 2RIt N IR R
HEIR PSR A T R IREEIRE

Y%ANDP2_FE- 5- LATECOLL: AMDP2/ FE 0/ 0/[dec], Late collision
UDEC21140-5- LATECOLL: [chars] transmt error

% LACC- 5- LATECOLL: Unit [DEC], late collision error

% ANCE- 5- LATECCOLL: Unit [DEC], late collision error

%PQUI CC- 5- LATECOLL: Unit [DEC], late collision error

%PQUI CC_ETHER- 5- LATECOLL: Unit [DEC], late collision error
%PQUI CC_FE- 5- LATECOLL: PQUI CC/ FE([DEC]/[DEC]), Late collision
% CC_ETHER- 5- LATECOLL: Unit [DEC], late collision error

BYNEREEBRETATEMEFTE. &EEM show interface ethernet [0 5] v SR EH
hE SRR R

rout er #show interface ethernet 0
Et hernetO is up, line protocol is up
Hardware is Lance, address is 0010.7b36. 1be8 (bia 0010. 7b36. 1be8)
Internet address is 10.200.40.74/22
MIU 1500 bytes, BW 10000 Kbit, DLY 1000 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ARPA, | oopback not set
Keepal i ve set (10 sec)
ARP type: ARPA, ARP Tineout 04:00:00



Last input 00:00: 00, output 00:00:06, output hang never
Last clearing of "show interface" counters never
I nput queue: 1/75/1/0 (sizel/ max/drops/flushes); Total output drops: O
Queuei ng strategy: random early detection(RED)
Qut put queue :0/40 (sizel/ max)
5 mnute input rate 1000 bits/sec, 2 packets/sec
5 mnute output rate 0 bits/sec, 0 packets/sec
2058015 packets input, 233768993 bytes, 1 no buffer
Recei ved 1880947 broadcasts, O runts, 0 giants, 1 throttles
3 input errors, 0 CRC, O frame, 0 overrun, 3 ignored
0 input packets with dribble condition detected
298036 packets output, 32280269 bytes, 0 underruns
0 output errors, 10 collisions, O interface resets
0 babbles, 0 late collision, 143 deferred
O lost carrier, O no carrier
0 output buffer failures, 0 output buffers swapped out

AR RELEEARNER/RRRAA ; EEAR—RARFENRE, "M REERZMEH
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Excessive Collision

WREIFTR | EREEFNHEAERAHMIREN 16, IEREMREOTEDE—NMEHE | £iLEE
RAIARIEMM AR ES —KARIGR , WEKF. WMRTERE , FRICHTERR,

HEHREANATHIRERRE

%ANMDP2_FE-5- COLL: AMDP2/ FE 0/ 0/ [ DEC], Excessive collisions, TDR=[ DEC], TRC=[ DEC]
UDEC21140-5-COLL: [chars] excessive collisions

% LACC-5-COLL: Unit [DEC], excessive collisions. TDR=[ DEC]

% ANCE- 5- COLL: Unit [DEC], excessive collisions. TDR=[ DEC]

9%PQUI CC-5- COLL: Unit [DEC], excessive collisions. Retry limt [DEC] exceeded

%PQUI CC_ETHER-5-COLL: Unit [DEC], excessive collisions. Retry limt [DEC] exceeded
%PQUI CC_FE-5-COLL: PQUI CC/ FE([ DEC]/[DEC] ), Excessive collisions, TDR=[ DEC], TRC=[ DEC]
% CC_ETHER-5-COLL: Unit [DEC], excessive collisions. Retry limt [DEC] exceeded
%5l BYTE- 4- SB_EXCESS _COLL : Excessive collisions on mac [dec] (count: [dec])

BYNEREERETETEMAMRTE,

AR FRERITR(TRC)ITHBFR —MUFR , BRXBREFEINEFRERRIY. KRATHL
15, B2 , MRRAEEHER", WiITHFERIF, REXHERLT , TRCENEREHEN T
o EHIZT TRC EA— TN REEMERAT , HES—MIRA LT WG

& NERFIH(TOR)ITHJRRE — I AERITEE , EMERTRIFREE BT EE (AN &
i , 8100998 (ns)). ATITHRSRBH—T , KV8eft@m 35 RR , RMZETATHERLSH
FRRYRAER,

& 8E A show controller ethernet [0 5] tr SR &M H PHFIN RN EE.

rout er #show controller ethernet 0

LANCE unit 0, idb OxFA6C4, ds OxFC218, regaddr = 0x2130000, reset_mask 0x2
I B at Ox606E64: npbde=0x0000, ncfilter 0000/0000/0100/ 0000

station address 0010. 7b36. 1be8 default station address 0010. 7b36. 1be8
buffer size 1524

RX ring with 16 entries at Ox606EA8

Rxhead = Ox606EC8 (4), Rxp = 0xFC244 (4)

00 pak=0x0FCBF4 Ds=0x60849E st at us=0x80 max_si ze=1524 pak_si ze=66



01
02
03
04
05
06
07
08
09
10
11
12
13
14
15

pak=0x10087C
pak=0x0FDE94
pak=0x100180
pak=0x0FD0O9C
pak=0x0FE590
pak=0x100ADO
pak=0x0FDOEC
pak=0x0FF830
pak=0x1003D4
pak=0x0FEA38
pak=0x100D24
pak=0x0FC74C
pak=0x0FD798
pak=0x0FE7E4

Ds=0x6133B6
Ds=0x60BA7E
Ds=0x611F82
Ds=0x609216
Ds=0x60CEB2
Ds=0x613A72
Ds=0x60AD06
Ds=0x610492
Ds=0x61263E
Ds=0x60DC2A
Ds=0x61412E
Ds=0x607726
Ds=0x60A64A
Ds=0x60D56E
Ds=0x6098D2

st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80
st at us=0x80

max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si
max_si

ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524
ze=1524

pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si
pak_si

ze=66
ze=203
ze=66
ze=66
ze=66
ze=66
ze=66
ze=348
ze=343
ze=66
ze=64
ze=64
ze=66
ze=64
ze=66

pak=0x0FD2FO0 max_si pak_s

TX ring with 4 entries at 0x606F68, tx_count =0
TX_head = 0x606F80 (3), head_txp = O0xFC294 (3)
TX tail = 0x606F80 (3), tail_txp = 0xFC294 (3)

00 pak=0x000000 Ds=0x63491E st at us=0x03
01 pak=0x000000 Ds=0x634FDA st at us=0x03
02 pak=0x000000 Ds=0x630A9E st at us=0x03
03 pak=0x000000 Ds=0x630A9E st at us=0x03
3 m ssed datagrans, 0 overruns

st at us2=0x0000 pak_si ze=332
st at us2=0x0000 pak_si ze=327
st at us2=0x0000 pak_si ze=60
st at us2=0x0000 pak_si ze=60

O transmitter underruns, 0 excessive collisions

8 single collisions, 2 nultiple collisions

0 dma nmenory errors, 0 CRC errors

0 alignment errors, O runts, 0 giants

0 tdr, O spurious initialization done interrupts

0 no enp status, O buffer errors, O overflow errors
0 TX buff, 1 throttled, 1 enabled

Lance csr0 = 0x73
HEARKZRHAME, ENERER  BREUENI AR EHXZUAAMN EER. NIC K, HEH
EREA RN S, SEARALIEDERLEERE MR TRAFR,

£ Cisco Catalyst #Hl# , 2R service internal BRITH , BXHIE E AR FE R 98 BYTE
4-SB_EXCESS_coLL H service internal X KAR , NENLEARIBE-BERER , RET
WEE, EXfERT , HIWER R REFEEEENPIR, 3 service internal BXNITHE , &
HIM—XSEAHR , RGAMmELER, XtLFRH—LEEHRFERMN. service internal =X $T
Fat, BREDIEEREEN, B LA EH no service internal P LKA AEFIRS , HER

HRERHERAENER,

HXER
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